
Subject: Interpolate problems
Posted by Inigo Garcia on Tue, 02 Sep 1997 07:00:00 GMT
View Forum Message <> Reply to Message

Hi:

I just wanted an easy linear interpolation, and when executing the code
that comes in the OnLine Help, I get this error message:

>  X = FINDGEN(61)/10 - 3
>  V = SIN(X)                              
>  U = [-2.50, -2.25, -1.85, -1.55, -1.20, -0.85, -0.50, -0.10, $
>    0.30, 0.40, 0.75, 0.85, 1.05, 1.45, 1.85, 2.00, 2.25, 2.75 ];
>  result = INTERPOL(V, X, U)      ;Interpolate.

% Compiled module: INTERPOL.
% Attempt to call undefined procedure/function: 'INTERPOL'.
% Execution halted at:  $MAIN$                 

Someone out there knows what's wrong here ??

Thanx,
		I~nigo.
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